Name: Date:
AP Calculus AB

Do Now: (Calculator Active)

4
1. Which of the following is an equation of the tangent line to the graph of f(x)= AP
at the point where f"'(x)=1? 4

X
(A) y=x+3.5954 ® y=x-9.803 (C) y=x-3.056

(D) y=x-1 (E) y=3x-1

Plow . h=3.1033. .
o b b ghof Hongey (AB) 4=, (8
F(R)

3: )(—A—}'”A)

Please work on Set C from the AP Calculus AB
Practice Multiple Choice



Homework 10-23

Name: ;\ Date:
AP Calc AB: Calculator Active Questions Homework Y\VN Ms. Loughran

v «wa

s 9 - 2 i n T :
1. For f(x)=sin"x and g(x)=0.5x" on the interval [—5,3 , the instantaneous rate

f | ) j ) of change f is greater than the instantaneous rate of change of g for which value of x?

(A) 0.8 ®) 0 © 09 (D) 1.2 (E) 1.5

2. At how many points in the interval =2z < x £ 27 does the tangent line to the graph of the

w
curve y =xcosx have a slope of E?

(A) S (B) 4 © 3 (D) 2 (E) 1

= K0S
q = dM\IUWC

[j:é”be the function given by f(¢) =2zt +sin(2xt).
(a) Find the value(s) of 7 in the open interval (0, 2) for which the line tangent at (¢, f(¢))is

parallel to the line through (0,0) and (2,47). = 2(‘ 7; /. }r ’ 75‘

(b) Suppose the given function describes the position of a particle on thé x-axis fér time
0 <1 <2. What is the average velocity of the particle over that interval? 6 2 73
(c) Determine the velocity and acceleration of the particle at / =1.

vit) = lz 5606
atiy= 0



Set C

If f(x) = x+sinx, then f(x)=
a)l+cosx b)l-cosx c)cosx d)sinx—xcosx €) sin x + xcos x

If y = cos® 3x, then 2
: dx

a)—6sin3xcos3x  b)-2cos3x c)2cos3x d)6cos3x  €)2sin3xcos3x

An equation of the line tangent to the graph of f(x)= x(l - 2)‘:)3 at the point (1,-1) is
" a)y=-Tx+6 b)y=—6x+5 9y=-2x+1 d)y=2x-3 ¢ y=7x-8

A+ (-2
r(x 7|( 33%11 %Z(o ¢ -2+ ((l;— X?D) 3’:]’-‘—“7(7(‘13

d 1
a)-6 b)-4 )0 d)2 e)6 j:~?><h’;

If f(x)=sinx,then f {%) =
a "% b)% JE \/5 e).\/g

C)T d)—

( Qx)

If £(x) =+2x, then f'(2) =
'a)% b)— c)[— d1 )2

L= 4fx = () o 7

—
-

()= ﬁJ(—; 3



10.

11.

12.

13.

The ng tan 3(x + ;z) —tan3x is
- h

a)0 b)3sec’(3x) c)sec’(3x) d)3cot(3x) e)nonexistent

. ?
If £(x) = (x—1)" sin, then £'(0) = 7{ .M: ()(-I)awsx + 2((x |))5;n><0
-2 b)-1 )0 &1 e)2 1 (v)= (071) s+ 2(0-1) M
11) + A0
If f(x)=(x2—2x—1)§,then £1(0)is
P2 Bo -2 a-2 ¢g-2 ,
3 3 -

i) 30 - (o
%cosz(x’)= f‘ 6): %(4)-3
-, -
a) 6x* sin(x*) cos(x?)
b) 6x*cos(x*)
c)sin’(x*)
d) - 6x* sin(x*) cos(x?)

e) - 2sin(x”*) cos(x?)

w)

At what point on the graph of y = %x’ is the tangent line parallel to the ling 2x — 4y = 3?

1 1 11 1 1 x-3=4y
i b)| —,— c)| 1,—— d)|1,— 2.2
a)(z 2) )(2 8] )( 4) )( 2) e2) 2y-2 <Y
_ X.= & y y
3 =X L. L m=2
l‘{]':a ( 5) = T my = #
The position of a particle moving along a straight line at any time is given by s(¢) = t* + 4¢ + 4.

What is the acceleration of the particle when ¢ = 4?
a0 b)2 c)4 d)8 e)l12

2

Ify= ZCos(ﬁ), then i
2 dx

i

a)—-8 cos(g-) b) - Zcos(gj c)- sin(g) d)- cos(g) e)- %cos(%)




